
Part Number: H-V14-BAG
Description: Fleetliner Saddlebags
Fitment: 2014 Honda Valkyrie
Revision: 3

Tools Required Parts List
Flathead screwdriver
Phillips screwdriver
6mm Allen wrench
2  12mm open wrenches
14mm combination wrench
14mm open wrench
10mm socket wrench

1  #A01216  Right mounting bracket 1  #SP00852 m10 x 1.5 Hex head bolts
1  #A01215  Left mounting bracket 1  #SP00265 10mm Flat washers
1  #A01214  Bottom mounting bracket 2  #SP00761 m8 x 1.25 x 60 Hex head bolts
4  #SP00121  3/8”-16 Hex head bolts 2  #P10470 Aluminum Spacers
4  #SP00198  3/8” Chrome Acorn nuts
10  #SP00157  3/8” Lock washers
12  #SP00215  3/8” Flat washers
4  #SP00167  5/16”-24 Flat washers
4  #SP00104  m6 x 16mm Hex head bolts
2  #SP00845  m8 x 30 Hex head bolts

FIG 5 FIG 6

1.  Remove your stock seat.

2.  Pull off side covers on both sides of the bike.

3.  Using a flathead screwdriver, remove the 
plastic caps on the handrails (Figure 1).

4.  Remove the bolts on the handrails, using a
6mm Allen wrench (Figure 2).  Do not lose the
washers.

NOTE: Hold handrail while removing the bolts.

5.  Remove bolts on the fender, using a Phillips
screwdriver (Figure 3).

6.  Push in plastic rivets on the plastic splash
guard, then pull out (Figure 4).

7.  Pull out plastic rivets under the rear of the
fender on both sides (Figure 5).

8.  Lift up on the fender to clear the seat 
mounting points and pull off (Figure 6).

9.  Starting on the right side, remove the nut and
bolt on the muffler hanger, using two 12mm open
wrenches (Figure 7).

10.  Remove the nut and bolt on the lower 
subframe, using a 14mm combination and a
14mm socket wrench (Figure 8).

FIG 1 FIG 2

FIG 3 FIG 4



FIG 9

FIG 11

FIG 10

FIG 13

FIG 12

FIG 14

11.  Remove the two 6mm bolts on the subframe,
using a 10mm socket wrench (Figure 9).

12.  Install the Corbin right bag bracket and
secure the top of the subframe with the supplied
m6 x 16mm hex head bolt and 5/16” flat washers.
Secure the lower subframe with the supplied 
m10 x 1.5 hex head bolt and 10mm flat washer.
Secure the  muffler hanger with the supplied 
m8 x 1.25 x 60 hex head bolt, 3/8” flat washer
and aluminum spacer (Figure 10).  Don’t forget to
use Loctite®.

13.  On the left side of the bike, remove the nut
on the muffler hanger, using two 12mm open
wrenches (Figure 11) and then remove the two
6mm bolts on the subframe (Figure 12), using a
10mm socket wrench.

14.  Install the Corbin left bag bracket and secure
the top of the subframe with the supplied 
m6 x 16mm hex head bolt and 5/16” flat washers,
then secure the the  muffler hanger with the 
supplied m8 x 1.25 x 60 hex head bolt, 3/8” flat
washer and aluminum spacer (Figure 13).  Don’t
forget to use Loctite®.

15.  Reinstall the fender, handrails, side covers
and seat.

16.  Install the saddlebags by lining up the holes
in the bags to the mounting points on the bracket.
Secure the upper mounting points with the 
supplied 3/8” washer, lock washer and acorn nut,
using a 3/8” socket wrench.  Secure the bottom
mounting points with the supplied 3/8” washer,
lock washer and hex head bolts.

17.  Install the bottom bag bracket and secure
with the supplied m8 x 30 hex head bolts, 3/8”
lock washers and 3/8” flat washers (Figure 14),
using a 13mm socket wrench.

FIG 7 FIG 8

Questions? Give us a holler...

800-223-4332
tech@corbin.com

LOWER
SUBFRAME

MUFFLER
HANGER

UPPER/TOP
SUBFRAME


